
PBENDSS 
Space Saver Parts Bender  

 
 

 
 

STOP! CONTACT CUSTOMER SERVICE WITH QUESTIONS OR PROBLEMS. 

DO NOT RETURN THIS PRODUCT TO THE RETAILER. 

If you experience a problem or need parts for this product, visit our website http://www.buffalotools.com  

or call our customer help line at 1-888-287-6981, Monday-Friday, 8 AM - 4 PM Central Time. A copy of 

the sales receipt is required.      

 

KEEP THIS INFORMATION, SALES RECEIPT & APPLICABLE WARRANTY FOR FUTURE 

REFERENCE. READ ALL INSTRUCTIONS AND WARNINGS BEFORE USING THIS 

PRODUCT. When unpacking, check to make sure all parts listed are included. If any parts are missing 

or broken, please call Customer Service at 1-888-287-6981. 

 

FOR CONSUMER USE ONLY – NOT FOR PROFESSIONAL USE

http://www.buffalotools.com/


PARTS LIST
 

 
 
 
 
 
# Description Part # # Description Part # 
 
1 Spacer, Loop BT20001 5  Bolt, Flat  Head 3/8 Inch  BT20005 
2 Bolt 3/8 In x 4 1/8 In BT20002 6 Spacer Ring BT20006 
3 Washer, Flat 3/8 In BT20003  7 Washer Lock 3/8 Inch BT20007 
4  Ring Assembly BT20004  8 Nut BT20008 
 
 
9 Hitch Pin, Long  BT20009 19 Attachment Sharp-Angle-Bend  BT200019 
10 Stop Block BT200010 20 Stand BT200020 
11 Support Block BT200011 21 Die 1 Inch BT200021 
12 Bolt. 3/8 inch x 1 1/8 in  BT200012 22 Die 1 1/4 Inch BT200022 
13 Stop, Adjustable  BT200013 23 Die 1 1/2 Inch  BT200023 
14 Stop, Fixed BT200014 24 Die 1 3/4 Inch BT200024 
15 Hitch Pin, Short  BT200015 25 Die 2 Inch BT200025 
16 Arm Handle Extension BT200016 26 Die 2 1/2 Inch BT200026 
17 Pin Handle With Hairclip BT200017 27 Die 3 Inch BT200027 
18 Handle BT200018 
 
 
 

 

 
PBENDSS Space Saver Parts Bender 2 




































































	PBENDSS

